= SCBW Series

& = (¢ M3 M5 R1/8 R1/2
Lir O - - 032 @12
ﬁz::\ Bx) JIS —Z
A4

- © CAD 84

93.20] ¢a0]e 321 ¢40| 60| ¢4 ¢60| 980| ¢60| 080|100 60| ¢80 ¢100 ¢ 120 ¢ 1009 12
O
MPal] 1.0
MPaf] 0.1
0 MPal 15
00000 00 50 60 30
00000 04 001 60 0
03 05 R1/800 R1/400 R3/801 R1/2
o000 g 490 570] 7.90] ss80| 960| 250| 260] 270 son| si0| 540 6370 7s0| 780| 810|134 ass
()o] 004 o 100 O 10015 O 13 0O 13 0 14
ominne) | O 27(20)0 87(80) mpup [ zuam | 270 | 470 [ 500 | 530 | 650 [10000] 1100 | 150071600
u meh 0.40.3)0 13120 [ 32320 s040mh 400] 70| 750) 80 [ 100] 150 160 | 220 24
OmaR]  20(5.9)0 80(6.7)01 w3 #0131 2400 4300] 4700| 4700| 65001 9300 10000  |15007 1600
0 mn’h 0.3(0.08)] 1.2(0.1)0 28020] 38021) 360] 650 70| 7o0] 100] 140] 150 [ 200 24
o 0.5MPa
(0)
30

Cscaw ) - -(1)-(1)-(p70)

| ‘ ] O
: @
2] M30 | M3x 0.500
0 M50 | M5x 0.80
] 60 R1/80oooooo0
1 80 Rl/4oooooodO
(] 100 |R3/8oooooodO
(1 150 |R1/2o0o0oooo0d0
(b) O
0 0 000 M30 | M5 6 80 100 |15
1 30 ¢ 3.20 o [J o [J
SC3W-M5-4-|-P70 O 40 |¢ 40 ed| eO| o0
o o 0 0 5x 0.80 O 60 |¢600 o eO| o0 o
g . . E""‘D O 80 |¢ 8000 e| e0| O
00 ) 0 O 1 100 | 100000 o [J o [J .
0 120 |¢ 1200000 o] o
° ® o |
1
5 0 0
3 10
1 KO
0O oo
A e
o O O /0O
n o P700 0O
20°K": M3 M5 O
30" M3 M5 "6"(1/8) P74 O . Z
oo "4"(¢ 4)16"(¢ 6)

720 CKD



SCBW Series

100
80

60
£ /min

(ANR)
40

20
0.5MPa

2000
1800
1600
1400

1200
£ /min

(ANR)
800

600
400
200

0.5MPa

M3,M5
15
|3D
SC3W-M5- 40
/ 1.2
0.9
/ 0.6
SC3W-M3- ¥
// vas *tos
/ /
/
_—— 0

0123456789 10u11wR

1/4 1/2
1"
SCaW-15-12. |25
A T
Jowsn |20
4 T ] _| o
SCIW: 10ilz 5
=1
§C3W'10‘6
7 SCaw-s- f{lo
'/ |
/| fscawes |s
%ﬁ" 0

0 2 4 6 8 10 12 14 16

mm:

mm:

250

200

150
£ /min

(ANR)
100

50
0.5MPa

0

1/8

SC3W-6-

.

35

3.0

25

2.0

/

15

1.0

L—T

L —

0.5

0

0123456789101 121314

20

15

£ /min 10
(ANR)

0.5MPa

0.3
o2
scaw-e-l‘;@o yd
/ n
SCaW-5-+-0
/ |// 0.1
—
/£%4 SC3w-M3-3"0
2 4 6 8 10 12 14 1

CKD

mm?

mme

SCPD2
SCM
MDC2
SMD2
SSD
STS/L
LCS
STR2
MRL2

GRC

KBA
MN4EO
4GA/B
M4GA/B

MN4GA/B

F.R
0o o

FR

R

721



SCBW Series

722

SC3W-M32 -0 -P70

¢ E

¢d

-« ?F

e e
] MAX
SC3W-M3-3-P70 ¢ 3.2 M3x 0.5 2.4 11.40| 27.60
SC3W-M3-4-P70 ¢4 M3x 0.5 2.4 11.40| 27.60
SC3W-M5-3-P70 ¢ 3.2 M5x 0.8 3.4 12.40| 30.20
SC3W-M5-4-P70] ¢4 M5x 0.8 3.4 12.40| 30.20
SC3W-M5-6-P70 Q6 M5x 0.8 3.4 12.4 30.2
6
SC3w-,8-0-P70 0 - Oscaw-60 O
15
oF
A
I
[ of F D
\ L |
—_— m —
M y Y
O MO O Al BO co DO EO FO GO
SC3w-6-4-P70 00O ¢ 40 38.40 16.20 80 7.30 23.10 90 10.00 13
SC3W-6-6-P70 0 R1/80 ¢ 60 38.40 15.70 80 7.30 24.10 90 12.50 13
SC3w-6-8-P70 OO ¢ 80 38.40 15.40 80 7.30 25.30 90 14.50 13
SC3w-8-6-P70 00O ¢ 60 51.20 24.90 110 9.50 27.20 120 13.80 17
SC3w-8-8-P70 0 R1/40 ¢ 80 51.20 24.90 110 9.50 28.50 120 16.30 17
SC3w-8-10-P70 OO ¢ 100 51.20 23.90 110 9.50 32.00 120 19.30 17
SC3W-10-6-P70 00O ¢ 60 52.40 23.10 120 11.30 28.30 140 12.50 19
SC3w-10-8-P70 OO ¢ 80 60.20 29.80 120 11.30 30.30 140 16.30 19
SC3W-10-10-P70 0 R3/8D ¢ 100 60.20 30.00 120 11.30 33.80 140 19.30 19
SC3W-10-12-P70 00O ¢ 120 60.20 29.30 120 11.30 37.80 140 21.30 19
SC3W-15-10-P700 00 RZI.IZD ¢ 100 66.70 33.80 150 13.50 36.00 160 19.30 24
SC3W-15-12-P70 00O ¢ 120 66.70 33.80 150 13.50 40.00 160 21.30 24

CKD





